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SN BEUAD

N2 ;_/TIJH%*
ool EEH0 YR =X (S &2)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
ONXNEN QA ANE SANEL 1,229
— 2 SS9 AlAE KLIS A= HH 22
13,800, 000& *8.9% 1,229
OZINBUAEEEESHAH MH SANES 38,900
—KLIS, UPIS ATZEQ0f&e
199,000,000 *10% 19,900
—KLIS, UPIS SIERI0 &2l
2,235,294 ,0002 x0.85% 19,000
202 o4 | 1,800 1,200 600
01 2Ll 1,800 1,200 600
OEXOsSZ2UT MASIAIE =X
60,000 *2H x5! 600
OEXNAKAHEO As5S8 60,0008 *x2H*10Y 1,200
405 XHAHE S HI 12,000 81,400 69,400
01 AL 2B F S| 12,000 81,400 A 69,400
OBESHEB0AIGAIAE 12,000,000 14! 12,000
KISIAIE = & ALSHAIS 416,000 500,000 A 84,000
= 234,000
= 182,000
401 Al HI L 204 HI 416,000 500,000 A 84,000
= 234,000
= 182,000
1 Al&H| 416,000 500,000 A 84,000
OXGtAIEES MAMSAIE 2H 416,000
= 234,000
= 182,000
NEAOF BHL XA 45,600 45,600 0
= 22,800
= 22,800
403 XX SHHS K20 & 45,600 45,600 0
= 22,800
= 22,800
02 BII2SHCHSCHE AFS HI 45,600 45,600 0
O N&HELOoF 2HLXIS =& 45,600
& 22,800
= 22,800
X ETHEA AFS 2,706 0 2,706
101 2121 4| 2,706 0 2,706
04 JIZtHIZ22XNSE S 2,706 0 2,706
OXNEZAI 182 2,706
— NETHZA =& 44 6403 x1H x5 +4 3] 2,679
—AMEE S 2,679,000 *1% 27
ISP (B D) 183,778 165,638 18, 140
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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
ol 2 gl 87,802 79,186 8,616
ol | 87,802 79,186 8,616
101 @14 Hl 87,802 74,986 12,816
01 2= 87,802 74,986 12,816
OANZ2Rag FUF(20Y) 22,037
— 55 11,5913 x 1H «10AI 2t+ 128 1,391
— 6= 9,886 6 «10Al 2t«12& 7,118
A= 8,930 11H *10Al 2tx 128 11,788
— 9= 7,247 +2F «10Al 2t <122 1,740
Ozuze=¢ 9, 1343 x20H «30Al 2t 122 65,765
JlE&dl 95,976 86,452 9,524
Jl2&l 95,976 86,452 9,524
201 Let2d] 61,576 54,572 7,004
01 At 22l 53,414 44,650 8,764
Oger==ZHl SHA & 21,714
O=&Hl SUA & 19,700
oul = dl 12,000
—JEYEESRY L= 12,000
= = 150,000& »48H 7,200
ot = 100,000& »48H 4,800
02 33224l 8,162 9,922 A 1,760
ORlgdd 23 HHAZH3I Y (38F) 4,590
O&dSEX Xl 2,472,000& = 1CH 2,472
OMZ IS BEEE 400,000 = 1CH 400
O MIIsI BEE= 700,000& = 1CH 700
202 O4dl 30,200 31,880 A 1,680
01 = LH YI 30,200 31,880 A 1,680
O3UWoigI (=) 20,120
O=Uoitgl(22l) 10,080
203 YR =&t 4,200 0 4,200
04 BA 2GR =T 4,200 0 4,200
ORN2IEYRF=AHI 350,000 = 12& 4,200
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